EXAMPLE - 1 EXAMPLE - 2
5.22 x10=5.2.2 = 52.2 | 0.63x100-0.8 3. = B3

1 1
10 HAS ONE ZERO, WHICH TELLS 100 HAS TWO ZEROS, WHICH TELLS
YOU TO MOVE THE DECIMAL YOU TO MOVE THE DECIMAL TWO
ONE PLACE TO THE RIGHT. PLACES TO THE RIGHT.
1. 9.83 x 100 = 89B3 2. 48.1 x 10 = 481

3. 73.1 x 100 = 7310 4. 6.981 x 1000 = 6381
5.81.84 x 10 = 818.4 6. 9.63 x 100 = 9863
7. 73.14x 100 = 7314 8 824 x 10 = 6240
9. 14.2 x1000= 14200 10.5.63 x 10 = 5§.3
1. 7.23689 x 100000 = 723830 2. 6.1285 x 10000 = 61285
3.16.2598 x 1000 = 16258.8 4. 938 x 1000000 = 338000000
5.5.0038 x 100000 = 500380 B.5.4289 x 1000 = 5426.8



